D1vISION WITH A REMAINDER IT (H - SET 1)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

2110564 + 2 =

) 30551 + (—T) =
2 60239 + (—8) =
) 03] = 2 =

25 5090 + 1 =

120 23085 = 3 —

21 46959 = 8 =

29 39077 = (—6) =
2 28153 = (—6) =
80 —14085 + (=2) =
o) 31268 + (—4) =
) 15953 = (—3) =
83 69771 + (—10) =
5 43861 = (—10) =

135 —44564 = 10 =

Mathematics: Division - Level 8 - Horizontal - Set 1
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—24497 + (—5) =
5337+ 1=
—53044 + 8 =
2338 = (—3) =
—30980 + 5 =
61192 = 10 =
40085 + (—10) =
24359 + (—7) =
48389 = 5 =
—18517 + 6 =
~10710 = 3 =
4337+ 2 =
—30217 + 8 =
7836 = (—1) =

—42480 = (—9) =
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